/

M10 x 30
1665390 Re .
1665391 Li @
é;’ i
o
S~ S~

( & 6,4 PAG Natur

\//

/

005801

1664826 Re
1664827 Li
10V5138 Re
\ 9/5139 Li R_\‘
= =\
‘ ) \ ws \>v-917-2 N EBA

M8x30 005573

—

M10 x 30 ;

G/

1665392 Re
1665393 Li

e~

M8x3

1664819.1 / 1665819.1

2X
0561 116

P

I~ .
—

—

ER—

005801

//005066 1
A

1665394

1664817 / 1665817 Li

/ 1664818 / 1665818 Re

£y

Nz
o

= ‘~/ ,
! M8, 25Nm
— M10: 50 Nm
A2:
% — M6: 8.8Nm
M5: 6Nm
Blatt 1

Revision 7: 22.11.2018

MONTAGEANLEITUNG

Nissan Pick-Up Navara
Doppel-Kabiner (Double Cab)
King Cab (1 2 Kabiner)

Modell 2005 & 2010

ANTEC Fahrzeugtechnik GmbH
HubertusstraBe 2, 82256 Furstenfeldbruck
Telefon: +49 (0) 8141/ 227 35-0

Telefax: +49 (0) 8141/ 227 35-249

an

www.antec-online.de

Uberrollbiigel 60 schrag

Montagesatz

Edelstahl poliert / Stahl schwarz

1664819 / 1665819
1669819



/

Z_;“ / M10 x 30

M6:10Nm < G

NI10: 50 Nim 1665390 Re L

A2: 2 1665391 Li @

M6: 88NM %)\

M5: 6Nm 005801, —
005066—

1545055

M8x30

= [ o N ¥
'jéi-154 505{5)) 8\ i

< | [
1 ﬁ;’/«d/{
S Q

1

005572

. A
M10x30@ /

%LS@MG
26.4 PAZ?\“ x/

— M6x16 \
T

[

1665392 Re
1665393 Li

1664826 Re
1664827 Li

1665495 —

1664819.1 / 1665819.1

2X
0561116

N .
T — 1664817 / 1665817 Li

/ 1664818 / 1665818 Re

%— 005754
— 00580

005067

V4

=2&

=

/i\\ 1 Vv

1665797

Blatt 2 Revision 7: 22.11.2018

ANTEC Fahrzeugtechnik GmbH

HubertusstraBe 2, 82256 Furstenfeldbruck
Telefon: +49 (0) 8141/ 22735-0 X !
Telefax: +49 (0) 8141/ 227 35-249 King Cab (1 72 Kabiner)

Modell 2005 & 2010

www.antec-online.de

MONTAGEANLEITUNG

Nissan Pick-Up Navara
Doppel-Kabiner (Double Cab)

Montagesatz
Montagesatz

Uberrollbﬂgel 60 schrag

1664819 / 1665819
1669819
1669919

Edelstahl poliert / Stahl schwarz

(f. Roll'n Lock) .-



